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7 100kN/m%E#Bz5| 1.00 | 000 ~ 252 13945 |3mEBZB| 000 ~ 0.77| 3.52 17.79 | 100kN/miZ#825 | 1.00 | 11.66 ~ 4232 139.45 |3m&ERBZB| 20.00 ~ 4232| 3.32 17.79
s 1.00 | 262 ~ 1030 100.00 | =nis\ | 077 ~ 1030] 3.00 16.05 st 1.00 | 6.00 ~ 1166 100.00 | =nst | 5.00 ~ 4000 3.00 16.056
2 100kN/m##x5 | 1.00 | 000 ~ 271 142.73 |3m#Z#Bz2 5| 0.00 ~ 083| 3.36 17.96 | 100kN/m%#825 | 1.00 | 11.42 ~ 4748 | 142.73 |3m&ERBZB| 2000 ~ 47.48| 3.36 17.96
s 1.00 271 ~ 1050 100.00 | #nlst | 0.83 ~ 1050 3.00 16.05 st 1.00 | 6.00 ~ 1142 100.00 | =nst | 6.00 ~ 4000 3.00 16.056
3 100kN/m%E#Bz5| 1.00 | 000 ~ 325| 152.03 |3m&E#BZ5| 000 ~ 1.07| 3.49 18.66 | 100kN/mi%#825 | 1.00 | 10.78 ~ 4789 | 152.03 |3m&ERBZB| 3000 ~ 47.89| 3.49 18.66
s 1.00 | 326 ~ 1103 100.00 | =nst | .07 ~ 1103 3.00 16.06 st 1.00 | 6.00 ~ 10.78 100.00 | =nst | 6.00 ~ 3000 3.00 16.056
4 100kN/mM#E#BZ5 | 1.00 | 000 ~ 289 145.87 |3m%E#BZ 5| 000 ~ 1.80| 3.74 20.02 | 100kN/mi%#825 | 1.00 | 11.22 ~ 5630 145.87 |3m&EBZB| 4000 ~ 5630| 3.74 20.02
s 1.00 | 289 ~ 1068 100.00 | #nlst | 1.80 ~ 1068 3.00 16.056 st 1.00 | 6.00 ~ 1122 100.00 | =nst | 6.00 ~ 4000 3.00 16.056
5 100kN/m##8%% | 1.00 | 000 ~ 293| 146.48 |3m&FBZ5| 000 ~ 181|375 20.04 | 100kN/mi#%#B25 | .00 | 11.19 ~ 6503 146.48 |3mEREZB| 4000 ~ 6503\ 3.75 20.04
s 1.00 | 293 ~ 1072 100.00 | =nhst | .81 ~ 1072 3.00 16.06 st 1.00 | .00 ~ 1119 100.00 | =nst | 6.00 ~ 4000 3.00 16.056
P 100kN/m%#8%% | 1.00 | 000 ~ 296 147.07 |3m&EBZ5| 000 ~ 182| 3.75 20.09 | 100kN/mi#%#825 | .00 | 11.15 ~ 6265 147.07 |3mEREZB| 4000 ~ 6265| 3.75 20.09
s 1.00 | 296 ~ 1075 100.00 | =nhst | 1.82 ~ 1075 3.00 16.05 st 1.00 | 6.00 ~ 1115 100.00 | =nst | 5.00 ~ 4000 3.00 16.056
- 100kN/m%E#BZ5| 1.00| 000 ~ 236 136.79 |3mEEZS ~ 100kN/mM&#z25 | 1.00 | 11.92 ~ 4065| 136.79 |3mZ#Ez5 ~
s 1.00 | 236 ~ 1014 100.00 | #=nst | 0.00 ~ 1014 2.84 156.22 st 1.00 | 6.00 ~ 1192 100.00 | =5t | 5.00 ~ 40.65| 2.84 15622
P 100kN/mM#E#BZ5 | 1.00 | 0.00 ~ 236 136.79 |3m&E ZB| 000 ~ 0.71| 3.30 17.64 | 100kN/miZ#825 | 1.00 | 11.92 ~ 4065| 136.79 |3m&ERBZB| 20.00 ~ 40.65| 3.30 17.64
s 1.00 | 236 ~ 1014 100.00 | =nhst | 071 ~ 1014 3.00 16.06 st 1.00 | 6.00 ~ 1192 100.00 | =nst | 6.00 ~ 4000 3.00 16.056
9 100kN/mM%#BZ % ~ -|3mEBZD ~ 100kN/mM%#8% % ~ S| 3mEBZD ~
s 1.00 | 0.00 ~ 4.56 56.90 | =nLs | 0.00 ~ 0.00)| 1.568 8.44 st 1.00 | 6.00 ~ 5.00 56.90 | =hs | 5.00 ~ 5.00| 1.58 8.44
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhest ~ zhst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhLst ~ FhLst ~ FhLst ~ st ~
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